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To determine the possible number of *negative*
real zeros...

- replace x with -x
- "clean it up" (e.g. raise to power, multiply negatives)

- count the sign changes
Sorl
For example- f{x)= x® +2x? +5x +4
fl-x) = (-x)° +2(-x)* +5(-x) +4
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so f(-x) = -x°® +2x2 -5x +4

There are three sign changes, so either
three or 1 negative real zeros.
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Put one (or all three) examples
on your notecard...

Try...
Sec 3.4
page 387
determine the possible number
of real zeros

#33,35,37

and...
find all zeros of 39, 43

33.
35.
37.
39.
43.

no positive, 3 or 1 negative real roots
3 or 1 positive, no negative

2 or O positive, 2 or O negative

-2,5,1

-1, 2+2i, 2-2i










@) = Ix°r 36~ -2

[Postve = 1|
| T = 4007 F 302 L 02
=-4x*-3x3- x4 X 53
—

@:Q,ﬂ' @




